
DIN 913 - M4 x 4Grub screw121

HAL000018Joint mounting fixing M5120

SPK000210Hexagon nut - VA - M5x0.5119

VSA000006Hexagon banjo bolt - M5 - 14118

DIC010009O-ring 8.0 x 1.0117

DIC010008O-ring 4.5 x 1.5116

DIC010006O-ring 4.0 x 0.6115

DIC010001O-ring 2.3 x 0.8 V114

DIC000003Sealing ring PA-M5-1mm213

DIC010003Piston seal - SD18 NBR112

DIC010005Needle seal - SD18111

VSA000013Swivel screw fitting - ring piece - 6-4110

VSA000014Swivel screw fitting - M5 - 4-219

SPK000207Pressure spring - SD18 standard18

SPK000205Mini air regulator - M5 (incl. gasket)17

SPK000208Knurled screw - SD1816

SPK000209Adjusting screw - SD1815

SPK000204Closing piston - SD1814

SPK000199Outer nozzle lance-4.5 - SD1813

SPK000198Inner nozzle lance-2011 - SD1812

SPK000214Nozzle body - SD1811
Item numberItem descriptionQuantityPos.

Modification

Assembly drawing

Item description

SD18-Lance spray nozzle

Item number

SPK000238

Vervielfältigen und Kopieren nur mit unserer Genehmigung / Reproduce or copy only with our permission

HIESSL Schmiertechnik GmbH
D - 72663 Grossbettlingen

Document type

Date of issue Comment

Scale: 1:1

Exploded-view drawingA. Hiessl 09.09.2020

  

  

  

A3

General tolerance DIN ISO 2768-mK

3 17 2 11 16 15 1 12 4 5 19 6

21

20

7

9

10

18

1313

814


